y(t)

appVersion (4)="1.0.8348.30405"

x1(t) yi(t) DXyy =X2 (B)=X1 (T) OXppi=—OXy)  AY,, :=Y2 (L) =yl (L) Ay, :=—24Y,,
Mgy =X3 (T)=X1 (t) OXj5:=—28Xy) Ay, :=Y3 (t)-yl (t) Ay 5:=—AYs
X2 (t 2(t
(t) vz (t) Moo i =X3 (B) =X2 (1) OXygi=—=MXgy  AYa, :=Y3 (L) —Y2 (T) AY,5:=—4Ys,
x3(t) y3(t) 2 2 2 2 2 2
o1 =91 +4Yp M31 =431 T4 Ma2 =32 T4z
funvec
I’l2 = r21 r13 = r3l r23 = r32 _2
AbsTol :=10
F(n#,u#,v#):: G-m -An . —4
S :=var2str 3 d G:=1 RelTol :=10
r
uv m =30 m,:=2 my:=0.5
S := strrep(s , hum2str (u), num23tr(u#))
s :=strrep (s, num2str (V), num2str (Vv#)) Cgi=1
str2num (strrep[s , hum2str (n), num2str (n#)]]
x1(0)=0 X1 (0)=-1.3 X2(0)=-3 X2" (0)=0.8 x3(0)=-3.1 x3"(0)=1.5
yl(0)=0 yl1" (0)=-1.3 y2(0)=-0.2 y2° (0)=0 y3(0)=-0.1 y3" (0)=0
X1 (t)=F (x,2,1)+F(x, 3,1) yl " (t)=F(y,2,1)+F(y, 3, 1)
x2"" (t)=F (x,1,2)+F(x, 3, 2) y2 " (t)=F(y,1,2)+F(y, 3, 2)
x3"" (t)=F(x,1,3)+F(x, 2, 3) y3™" (t)=
M :=dn_ExplicitRK45 {funvec .t

F(y,1,3)+F(y, 2, 3)
end » 1000)
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